
 	 designed and manufactured in North America							       ver. 1.3  2024/02/15

 8.08 

5.00   14.25 

 33.50 

 8.73 

A A

B B

2

2

1

1

DO NOT SCALE DRAWING

willow wall

SHEET 1 OF 3

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:8 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

     BEND 

TOLERANCING PER:
INTERPRET GEOMETRIC

NEXT ASSY

TWO PLACE DECIMAL    

USED ON

APPLICATION

THREE PLACE DECIMAL  

PROPRIETARY AND CONFIDENTIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED.

product installation + specifications

willow
wall light 



 8.08 

5.00   14.25 

 33.50 

 8.73 

A A

B B

2

2

1

1

DO NOT SCALE DRAWING

willow wall

SHEET 1 OF 3

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:8 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

     BEND 

TOLERANCING PER:
INTERPRET GEOMETRIC

NEXT ASSY

TWO PLACE DECIMAL    

USED ON

APPLICATION

THREE PLACE DECIMAL  

PROPRIETARY AND CONFIDENTIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED.

2

willow
wall light

certification:

product code:

+ solid wood 
+ hand blown glass
+ metal
+ 12V G4 light bulb

+ hardwax oil
+ powder coated or plated steel

materials: 

finish: 

WILOwall

output:
+ 8 W (2 W / bulb)
+ 480 lm (170 lm / bulb)
+ 3000K with CRI of 95 or higher
mounting:
+ junction box connection
+ single driver connection

input:
+ 120V 50/60 Hz (Canada + US)

driver:
+ 12V phase dimmable driver
+ driver included with canopy
+ 277 VAC - 0-10V (upon request)



Component Quantity

Constellation Wall 1

8-32, 1” Flat Head Screw 2

Universal Junction Plate 1

B+L Driver 1

8-32, 1” Round Head Screw 2

hardware
component list

3

TWO PLACE DECIMAL    

UNLESS OTHERWISE SPECIFIED:

A A

B B

2

2

1

1

SCALE: 1:8 SHEET 3 OF 3

DWG.  NO.

DO NOT SCALE DRAWING WEIGHT: 

REV

willow wallA
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

     BEND 

MATERIAL

USED ON

THREE PLACE DECIMAL  

APPLICATION

INTERPRET GEOMETRIC
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER:

NEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED.

TWO PLACE DECIMAL    

UNLESS OTHERWISE SPECIFIED:

A A

B B

2

2

1

1

SCALE: 1:8 SHEET 3 OF 3

DWG.  NO.

DO NOT SCALE DRAWING WEIGHT: 

REV

willow wallA
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

     BEND 

MATERIAL

USED ON

THREE PLACE DECIMAL  

APPLICATION

INTERPRET GEOMETRIC
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER:

NEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED.A A

B B

2

2

1

1

DO NOT SCALE DRAWING

constellation wall mounting
SHEET 2 OF 3

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:8 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

     BEND 

TOLERANCING PER:
INTERPRET GEOMETRIC

NEXT ASSY

TWO PLACE DECIMAL    

USED ON

APPLICATION

THREE PLACE DECIMAL  

PROPRIETARY AND CONFIDENTIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED.

TWO PLACE DECIMAL    

UNLESS OTHERWISE SPECIFIED:

A A

B B

2

2

1

1

SCALE: 1:8 SHEET 3 OF 3

DWG.  NO.

DO NOT SCALE DRAWING WEIGHT: 

REV

willow wallA
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

     BEND 

MATERIAL

USED ON

THREE PLACE DECIMAL  

APPLICATION

INTERPRET GEOMETRIC
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER:

NEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED.

TWO PLACE DECIMAL    

UNLESS OTHERWISE SPECIFIED:

AA

BB

2

2

1

1

SCALE: 1:8SHEET 3 OF 3

DWG.  NO.

DO NOT SCALE DRAWINGWEIGHT: 

REV

willow wall A
SIZE

TITLE:

NAMEDATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

     BEND 

MATERIAL

USED ON

THREE PLACE DECIMAL  

APPLICATION

INTERPRET GEOMETRIC
PROPRIETARY AND CONFIDENTIALTOLERANCING PER:

NEXT ASSY

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED.



hardware
installation assembly

4

+
-

Inner Coating

Outer Coating

COAX CABLE 

DO NOT SCALE DRAWING

A A

B B

2

2

1

1

UNLESS OTHERWISE SPECIFIED:

SHEET 2 OF 3

DWG.  NO.

willow wall
WEIGHT: 

REV

SCALE: 1:8

A
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

     BEND 

TOLERANCING PER:
INTERPRET GEOMETRIC

NEXT ASSY

TWO PLACE DECIMAL    

USED ON

APPLICATION

THREE PLACE DECIMAL  

PROPRIETARY AND CONFIDENTIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED. 12

coax cable requires 
stripping of outer and 
inner coatings to access 
positive and negative 
connection wires



DO NOT SCALE DRAWING

A A

B B

2

2

1

1

willow wall

UNLESS OTHERWISE SPECIFIED:

SHEET 4 OF 4SCALE: 1:8

DWG.  NO.

WEIGHT: 

REV

A
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

     BEND 

TOLERANCING PER:
INTERPRET GEOMETRIC

NEXT ASSY

TWO PLACE DECIMAL    

USED ON

APPLICATION

THREE PLACE DECIMAL  

PROPRIETARY AND CONFIDENTIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS 
PROHIBITED.

5

1.	 Connect the driver to the junction box using the adhesive tape applied to the back of the driver.
2.	 Place the fixture on the wall as intended and mark the fixture mounting point. 
3.	 Feed the coax power cable through the universal junction plate so that it can be wired to the driver as 

shown in figure 1. Then have a certified electrician connect this driver to 120 V domestic power.
4.	 With the driver in the junction box, fasten the universal junction plate to the box with the round head 

8-32 screws.
5.	 The fixture can now be mounted to the junction box plate using the flat head 8-32 screws.

hardware
installation

figure 1


